Better Box Mailbox Parts List

NO. DESCRIPTION QTY
M8 S M6 " @ | Post 1
stud g screw sorew ® | Mailbox 1
—
(1pecs) S (1pcs) (1 pes-attached © | Number plate 1
to door knob) @ | Scroll 1
M8 M8 (e | Slide housing 1
screw bolt (P | Slide alert 1
(2pcs) (1pcs) © | Red flag 1
(| Small brass knob 1
(i) | Large brass knob 1
() | Assembly illustration sheet 1
M8 M6 ;
nut =) nut S () | Tool bag(include goods below) 1
(4 pcs) (2pcs) Screwdriver 1
Wrench 1
D8 D6 D4 M8 stud 1 pcs
washer® washer washer © M8 screw 2 pcs
(5pcs) (4 pcs) (1 pcs—-attached M8 bolt 1 pcs
to door knob) M6 screw 1 pcs
D6 D4 M4 screw - attached to door knob 1 pcs
rubber rubber M8 nut 4 pcs
washer washer P
(4 pcs) (1 pcs—attached M6 nut 2 pcs
to door knob) D8 washer 5 pcs
wW h S dri D6 washer 4pCS
renc crewdriver D4 washer - attached to door knob 1 pcs
i:@ — D6 rubber washer 4 pcs
D4 rubber washer — attached to door knob 1 pcs




Better Box Mailbox Assembly Instructions

M4
screw

— Rubber
washer

2

0,
Open the door of the mailbox (b), then attach

the large brass knob (i) to the front of the door
with M4 screw, D4 washer and D4 rubber washer.

|

N e

With the bottom facing up, insert M8 stud
into the screw hole at the bottom rear of
the mailbox.

M8 D8

M8
Nut washer

screw

Attach the mailbox (b)to the post(a)on the
bottom side with M8 nut and D8 washer and
on the top side with 2 M8 screws, 2 M8 nuts
and 2 D8 washers

M6
stud

D6
Rubber
washer

qZ

Place 2 D6 rubber washers over 2 M6 studs
pre-inserted into the bottom of the number
plate (c) . Secure the number plate from inside
the mailbox (b) using 2 D6 washers and 2 M6
nuts.



Better Box Mailbox Assembly Instructions

D8 Attach the scroll (d) to the post(a)by placing

Washer the welded screw located on the scroll into
the hole on the post. Secure the scroll to the

M8 mailbox (b) by inserting the M8 bolt and the

Nut D8 washer through the mailbox and the scroll
from inside the mailbox. Place D8 washer and
M8 nut over the bolt and tighten.

Your New Better Box is Equipped for Either a Slide or a Flag Alert.

B6A @ Side Alert QOption @

6A:Slide Alert Option: Insert the © Q@ R
slide alert(f) into the slide alert i T T~ ‘@Q,
housing (e) and secure with the S Ef, S~ /_‘\\
small brass knob(h). -
6B:Flag Alert Option:Attach the 68 D, g et opien® s
flag (g)to the mailbox with the M6 I
screw by placing a D6 washer, a D6 I
D6 rubber washer and the flag(g) ~ Rubber L §
on the M6 screw. After the flag(g), ashe e ’
place another D6 rubber washer D6 - !E <
and a D6 washer on the M6 screw ‘vasher Sie @ §
and attach the flag to the mailbox. M6

Screw

Qg

BETTER BOX MAILBOX POST MOUNTING INSTERUCTIONS

Your new Better Box Mailbox post can be mounted directly onto a sidewalk with 4 additional anchors
and bolts. Or, you can install your new post directly into your yard by digging a hole 14”x14”x 4” deep
with a level bottom. After leveling the post in the hole, pour in 40# of mixed concrete and let it set
overnight. Tomorrow you can replace the top soil and mount your new Better Box Mailbox.

The last mounting option is over the top of a 4 x 4 wooden post or a 3 inch or 4 inch round metal post. This
method works well and will be required to get below any pertinent frost lines. Insert the chosen style mounting
post into your new Better Box Mailbox post and use as much ground depth as needed for direct burial. Once
post burial is complete and your installation in place you can tap 2 holes through the Mailbox post and into the
chosen mounting post to make the installation permanent.



